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TRIGNOMETRC FUNCTIONS

Question Bank

1. Convert the following degree measure into radian measure. 

 

Watch Video Solution

40∘ 20 ′

2. Convert the following radian measure into degree measure. 

6

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0EIn76xYqhRh
https://dl.doubtnut.com/l/_rKk0Nm3K9xOH


3. Find the radius of the circle in which a central angle of  intercepts

an arc of length  (use 

Watch Video Solution

60∘

37.4cm π = )
22

7

4. The minute hand of a watch is 1.5 cm long. How far does its tip move in

40 minutes ? (use )

Watch Video Solution

π = 3.14

5. If the arcs of the same lengths in the two circles subtend angles 

 and  at the centre, find the ratio of their radii.

Watch Video Solution

65∘ 110∘

https://dl.doubtnut.com/l/_rKk0Nm3K9xOH
https://dl.doubtnut.com/l/_Na4NnFAA6Dhh
https://dl.doubtnut.com/l/_aLj0NSKdJW1k
https://dl.doubtnut.com/l/_BTWAJqPMNqko


6. Find the radian measure corresponding to the following degree

measures: 

Watch Video Solution

25∘

7. Convert the following degree measure into radian measure. 

 

Watch Video Solution

−47∘ 30 ′

8. Convert the following degree measure into radian measure. 

Watch Video Solution

240∘

9. Find the radian measure corresponding to the following degree

measures: 520∘

https://dl.doubtnut.com/l/_PHedxXbnlXro
https://dl.doubtnut.com/l/_KaD2aebQNhwv
https://dl.doubtnut.com/l/_1vxod2orqCd5
https://dl.doubtnut.com/l/_ui3FHOegVpUI


Watch Video Solution

10. Find the degree measures corresponding to the following radian

measures  

Watch Video Solution

(useπ = )
22

7
7π

6

11. A wheel makes 360 revolutions in one minute. Through how many

radians does it turn in one second?

Watch Video Solution

12. Find the degree measures of the angle subtended at the centre of a

circle of radius 100 cm by an arc of length 22 cm 

Watch Video Solution

(useπ = )
22

7

https://dl.doubtnut.com/l/_ui3FHOegVpUI
https://dl.doubtnut.com/l/_MxXjVMpn2Nd0
https://dl.doubtnut.com/l/_GATFUlLTV3UE
https://dl.doubtnut.com/l/_dy75SjNqJIVI


13. In a circle of diameter 40 cm, the length of a cord is 20 cm. Find the

length of minor arc of the cord.

Watch Video Solution

14. If two circles arc of the same length subtend angles  and  at

the centre , Find the ratio of their radii.

Watch Video Solution

60∘ 75∘

15. Find the angle in radian through which a pendulum swings if its

length is 75cm and the tip describes an arc of length 15cm

Watch Video Solution

16. Find the values of the other five trigonometric functions in the

following : 

https://dl.doubtnut.com/l/_w30LD8xShfYb
https://dl.doubtnut.com/l/_I93LKnU7u0Ug
https://dl.doubtnut.com/l/_8Ir0O7i61U8l
https://dl.doubtnut.com/l/_U4TXRsUdNPde


, x lies in the third quadrant.

Watch Video Solution

cos x = −
3

5

17. Find tha value of 

Watch Video Solution

sin( )
31π

3

18. Find the value of .

Watch Video Solution

cos( − 1710∘ )

19. Find the value of the other five trignometric functions if cosx=

, x lies in 3rd quadrant.

Watch Video Solution

( − )
1

2

https://dl.doubtnut.com/l/_U4TXRsUdNPde
https://dl.doubtnut.com/l/_tOJsbKQ5IBNR
https://dl.doubtnut.com/l/_nedxwvCoUyUF
https://dl.doubtnut.com/l/_B3dufRxaeADQ
https://dl.doubtnut.com/l/_KPS18tUa9KEa


20. If  and x lies in the second quadrant, find the values of cos

x, tan x and sec x.

Watch Video Solution

sin x =
3

5

21. If cotx=  and x lies in the 3rd quadrant find the values of the other

five trignometric functions.

Watch Video Solution

3

4

22. If secx=  and x lies in fourth quadrant then find the values of the

other five trignometric functions.

Watch Video Solution

13

5

23. If ,x lies in second quadrant. Find all trigonometric

functions.

Watch Video Solution

tan x = −
5

12

https://dl.doubtnut.com/l/_KPS18tUa9KEa
https://dl.doubtnut.com/l/_Z7GlkO1PmNJy
https://dl.doubtnut.com/l/_XCLvty1M4uyr
https://dl.doubtnut.com/l/_m8JuvnWInh92


24. Find the value of 

Watch Video Solution

sin 765∘

25. Find the value of 

Watch Video Solution

cos ec( − 1410∘ )

26. Find the value of 

Watch Video Solution

tan( )
19π

3

27. Find the value of 

Watch Video Solution

tan( )
19π

3

https://dl.doubtnut.com/l/_m8JuvnWInh92
https://dl.doubtnut.com/l/_7kncVzxVLu6Y
https://dl.doubtnut.com/l/_W6C3IWV9P1s5
https://dl.doubtnut.com/l/_miU1hlLSbO38
https://dl.doubtnut.com/l/_oNeRvIVJXYrm


28. Find the value of 

Watch Video Solution

sin( )
−11π

3

29. Find the value of the trigonometric functions. 

Watch Video Solution

cot( − )
15π

4

30. Show that 

View Text Solution

cos(x − y) = cos2 x cos2 y + sin x. sin y

31. Show that 

Watch Video Solution

cos( − x) = sin x
π

2

https://dl.doubtnut.com/l/_KU5Jb81n8aek
https://dl.doubtnut.com/l/_gjrUe6DA9ReD
https://dl.doubtnut.com/l/_JDYpaV7bEvTf
https://dl.doubtnut.com/l/_Kvx9FaFvAk2Z


32. Show that 

Watch Video Solution

sin( − x) = cos x
π

2

33. sin (x+y)=sin x cos y+cos x sin y'
We know that

View Text Solution

34. 

View Text Solution

sin(x + y) = cos( − (x + y)) = cos(( − x) − y))' = cos( − x)
π

2

π

2

π

2

35.  =……………

Watch Video Solution

tan x + tan y

1 − tan x tan y

https://dl.doubtnut.com/l/_Kvx9FaFvAk2Z
https://dl.doubtnut.com/l/_2J9epAP7fpMc
https://dl.doubtnut.com/l/_xdR8nbxzqLbf
https://dl.doubtnut.com/l/_XY3JQfxSG8uA
https://dl.doubtnut.com/l/_RRSevnNI4i3j


36. Show tht 

Watch Video Solution

tan(x − y) =
tan x − tan y

1 + tan x tan y

37. If none of the angles  and  is a multiple of , then 

Watch Video Solution

x, y (x + y) π

cot(x + y) =
cot x cot y − 1

cot y + cot x

38. Show that

Watch Video Solution

cot(x − y) =
cot x cot y + 1

cot y − cot x

39. Show that

cos 2x = cos2 x − sin2 x = 2 cos2 x − 1 = 1 − 2 sin2 x =
1 − tan2 x

1 + tan2 x

https://dl.doubtnut.com/l/_RRSevnNI4i3j
https://dl.doubtnut.com/l/_2TCBcCIduotD
https://dl.doubtnut.com/l/_dViMq1vYqO9B
https://dl.doubtnut.com/l/_Bk73FwfXuUqI
https://dl.doubtnut.com/l/_S1IvwKOsHrGZ


Watch Video Solution

40. Show that 

Watch Video Solution

sin 2x = 2 sin x cos x =
2 tan x

1 + tan2 x

41. Show that 

Watch Video Solution

tan 2x =
2 tan x

1 − tan2 x

42. Show that 

Watch Video Solution

sin 3x = 3 sin x − 4 sin3 x

https://dl.doubtnut.com/l/_S1IvwKOsHrGZ
https://dl.doubtnut.com/l/_DJJbnkL6Vdmc
https://dl.doubtnut.com/l/_xDeDJe89nJmJ
https://dl.doubtnut.com/l/_rSxjxoryPR6h


43. Show that 

Watch Video Solution

cos 3x = 4 cos3 x − 3 cos x

44. Show that 

Watch Video Solution

tan 3x =
3 tan x − tan3 x

1 − 3 tan2 x

45. Show that 

(i)  


(ii) 


(iii) 


(iv) 

Watch Video Solution

cos x + cos y = 2
cos(x + y)

2

cos(x − y)

2

cos x − cos y = − 2
sin(x + y)

2

sin(x − y)

2

sin x + sin y = 2
sin(

.
x + y)

2

cos(x − y)

2

sin x − sin y = 2
cos(x + y)

2

sin(x − y)

2

https://dl.doubtnut.com/l/_mH5fFUNySMma
https://dl.doubtnut.com/l/_NNfamoJH3NpG
https://dl.doubtnut.com/l/_XeZ4WzVrOtjH


46. Prove that 

 


(ii) 


(iii) 


(iv) 

Watch Video Solution

(i)2 cos x cos y = cos(x + y) + cos(x − y)

−2. sin x sin y = cos(x + y) − cos(x − y)

2 sin x cos y = sin(x + y) + sin(x − y)

2 cos x sin y = sin(x + y) − sin(x − y)

47. Find the value of 

sin  .

Watch Video Solution

15∘

48. Find :the value of

'tan(13 
 12)
'.

Watch Video Solution

π /

https://dl.doubtnut.com/l/_mTrOST3sHY1A
https://dl.doubtnut.com/l/_F059g5Y56BS6
https://dl.doubtnut.com/l/_AePycWoEuE44
https://dl.doubtnut.com/l/_mQc1GqBQQV15


49. Prove that '(sin (x+y)) (sin (x-y))=(tan x+tan y)/(tan x- ( tany ))'

Watch Video Solution

/

50. Show that tan '3 x tan 2 x tan x=tan 3 x-tan 2 x-tan x'

Watch Video Solution

51. Prove that cos ( +x)+cos ( - x) = 

Watch Video Solution

π

4

π

4
√2 cos x

52. Prove that 

Watch Video Solution

= cot x
cos 7x + cos 5x

sin 7x − sin 5x

53. Prove that

W h Vid S l i

= tan x
sin 5x − 2 sin 3x + sin x

cos 5x − cos x

https://dl.doubtnut.com/l/_mQc1GqBQQV15
https://dl.doubtnut.com/l/_TchbtIEC3px4
https://dl.doubtnut.com/l/_okkL5tOey5gs
https://dl.doubtnut.com/l/_KprSD0ubB5V7
https://dl.doubtnut.com/l/_ERnXv7fhqUMq


Watch Video Solution

54. Prove that 

Watch Video Solution

sin2( ) + cos2( ) − tan2( ) = −
π

6

π

3

π

4

1

2

55. Prove that 

Watch Video Solution

2 sin2( ) + cos ec2( )cos2( ) =
π

6

7π

6

π

3

3

2

56. Prove that 

Watch Video Solution

cot2( ) + cos ec( ) + 3 tan2( ) = 6
π

6

5π

6

π

6

57. Prove that 

Watch Video Solution

2 sin2( ) + 2 cos2( ) + 2 sec2( ) = 10
3π

4

π

4

π

3

https://dl.doubtnut.com/l/_ERnXv7fhqUMq
https://dl.doubtnut.com/l/_nx9cMetbd18X
https://dl.doubtnut.com/l/_yfjr3WO9Ocap
https://dl.doubtnut.com/l/_zTnGIsVhgdYz
https://dl.doubtnut.com/l/_dO1bVsiupTAz
https://dl.doubtnut.com/l/_Q7NfIN33na2J


58. Find the value of 

Watch Video Solution

sin 75∘

59. Find the value of the following: 

Watch Video Solution

tan 15∘

60. Prove that

Watch Video Solution

cos( − x)cos( − y) − sin( − x)sin( − y) = sin(x + y)
π

4

π

4

π

4

π

4

61. prove that 

= ( )
2tan( + x)π

4

tan( − x)π

4

1 + tan x

1 − tan x

https://dl.doubtnut.com/l/_Q7NfIN33na2J
https://dl.doubtnut.com/l/_YO8YFJUY3zWs
https://dl.doubtnut.com/l/_ipXPPMxrJFn9
https://dl.doubtnut.com/l/_9sVXQ2LLNHcU


Watch Video Solution

62. Prove that =

Watch Video Solution

cos(π + x)cos( − x)

sin(π − x)cos( + x)π

2

cot2 x

63. Prove that

Watch Video Solution

cos( + x)cos(2π + x)[cot( − x) + cot(2π + x)] = 1
3π

2

3π

2

64. Prove that

Watch Video Solution

sin(n + 1)x sin(n + 2)x + cos(n + 1)x cos(n + 2)x = cos x

https://dl.doubtnut.com/l/_9sVXQ2LLNHcU
https://dl.doubtnut.com/l/_R4VGdh6mG58W
https://dl.doubtnut.com/l/_5jni7eWRmKP6
https://dl.doubtnut.com/l/_wH7kuUpA8AVv


65. Prove that 

Watch Video Solution

cos( + x) − cos( − x) =
3π

4

3π

4
−√2 sin x

66. prove the following 

Watch Video Solution

sin2 6x − sin2 4x = sin 2x sin 10x

67. Prove that 

Watch Video Solution

cos2 2x − cos2 6x = sin 4x sin 8x

68. Prove that

Watch Video Solution

sin 2x + 2 sin 4x + sin 6x = 4 cos2 x sin 4x

https://dl.doubtnut.com/l/_92J8iOqXJbLB
https://dl.doubtnut.com/l/_ZjqeV6VQbq8v
https://dl.doubtnut.com/l/_1uckP4W7YvaO
https://dl.doubtnut.com/l/_9RGyyXM8d2ht
https://dl.doubtnut.com/l/_LpGgq5EW5ubl


69. Prove that 

Watch Video Solution

cot 4x(sin 5x + sin 3x) = cot x(sin 5x − sin 3x)

70. Prove that 

Watch Video Solution

= −
cos 9x − cos 5x

sin 17x − sin 3x

sin 2x

cos 10x

71. Prove that 

Watch Video Solution

= tan 4x
sin 5x + sin 3x

cos 5x + cos 3x

72. Prove that 

Watch Video Solution

=
sin x − sin y

cos x + cos y

tan(x − y)

2

https://dl.doubtnut.com/l/_LpGgq5EW5ubl
https://dl.doubtnut.com/l/_iwdbdzhObhAL
https://dl.doubtnut.com/l/_qVjEO0DBqamW
https://dl.doubtnut.com/l/_k2EPYDI2vVhX


73. Prove that 

Watch Video Solution

= tan 2x
sin x + sin 3x

cos x + cos 3x

74. Prove that 

Watch Video Solution

= 2 sin x
sin x − sin 3x

sin2
x − cos2 x

75. Prove that .

Watch Video Solution

= cot 3x
cos 4x + cos 3x + cos 2x

sin 4x + sin 3x + sin 2x

76. Prove that 

Watch Video Solution

cot x cot 2x − cot 2x cot 3x − cot 3x cot x = 1

https://dl.doubtnut.com/l/_k2EPYDI2vVhX
https://dl.doubtnut.com/l/_n9n3pQRetbMa
https://dl.doubtnut.com/l/_V7FALpezmQdN
https://dl.doubtnut.com/l/_SilCBEks1jTa
https://dl.doubtnut.com/l/_hQmooibJPsmQ


77. Prove that 

Watch Video Solution

tan 4x =
4 tan x(1 − tan2 x)

1 − 6 tan2 x + tan4 x

78. Prove that 

Watch Video Solution

cos 4(x) = 1 − 8 sin2(x)cos2(x)

79. Prove that 

Watch Video Solution

cos 6x = 32 cos6 x − 48 cos4 x + 18 cos2 x − 1

80. Find the principle and general solutions of 

Watch Video Solution

sin x = −
√3

2

https://dl.doubtnut.com/l/_hQmooibJPsmQ
https://dl.doubtnut.com/l/_JOfvWyqMiGiO
https://dl.doubtnut.com/l/_r7TrYGiiAlDj
https://dl.doubtnut.com/l/_5KQl9HED70bd
https://dl.doubtnut.com/l/_cnGEnfeKJnba


81. Find the principle and general solutions of 

Watch Video Solution

sin x = −
√3

2

82. Find the principal and general solution of 

Watch Video Solution

cos x =
1

2

83. Solve 

Watch Video Solution

tan 2x = − cot(x + )
π

3

84. Solve: 

Watch Video Solution

sin 2x − sin 4x + sin 6x = 0

https://dl.doubtnut.com/l/_PjLS7zYCjDMU
https://dl.doubtnut.com/l/_ArqPobPDse4T
https://dl.doubtnut.com/l/_MKHABoCFQfiK
https://dl.doubtnut.com/l/_0S47IsMOzkWV


85. Solve 

Watch Video Solution

2 cos2 x + 3 sin x = 0

86. Find the principle and general solution of the following. 

Watch Video Solution

tan x = √3

87. Find the principal and general solutions of the following equations

secx=2

Watch Video Solution

88. Find the principal and general solutions of the following equations 

Watch Video Solution

cot x = − √3

https://dl.doubtnut.com/l/_sTA5DCg2JXce
https://dl.doubtnut.com/l/_cXESqmzi3kuP
https://dl.doubtnut.com/l/_CJQzGogss4PY
https://dl.doubtnut.com/l/_JiAw6TlzzbWU


89. Find the principle and general solution of the following. 

Watch Video Solution

cos ecx = − 2

90. Find the general solution of the following equations 

Watch Video Solution

cos 4x = cos 2x

91. Find the general solution of the following equations 

Watch Video Solution

cos 3x + cos x − cos 2x = 0

https://dl.doubtnut.com/l/_JiAw6TlzzbWU
https://dl.doubtnut.com/l/_dblpS4H1rX5T
https://dl.doubtnut.com/l/_E4b7l0Gnu89z
https://dl.doubtnut.com/l/_YfbTWMzJXL8S


92. Find the general solution of the following equations 

Watch Video Solution

sin 2x + cos x = 0

93. Find the general solutions for each of the following equations

Watch Video Solution

sec2 2x = 1 − tan 2x

94. Find the principal and general solution of the following equation

Watch Video Solution

sin x + sin 3x + sin 5x = 0

95. If , where 'x' and 'y' both lie in second

quadrant, find the value of 'sin(x+y)'

sin x = , cos y = −
3

5

12

13

https://dl.doubtnut.com/l/_LSdnD8hz0lmm
https://dl.doubtnut.com/l/_TYe9fedWvKpv
https://dl.doubtnut.com/l/_HlK7dPsh7dNk
https://dl.doubtnut.com/l/_s7FVBcgDSEHK


Watch Video Solution

96. Prove that 

Watch Video Solution

cos 2x cos( ) − cos 3x cos( ) = sin 5x sin( )
x

2

9x

2

5x

2

97. Find the value of 

Watch Video Solution

tan( )
π

8

98. If , find the value of 

.

Watch Video Solution

tan x ∘ = , π < x <
3

4

3π

2

, and
sin(x)

2

cos(x)

2

tan(x)

2

99. Show that 

Watch Video Solution

cos2 x + cos2(x + ) + cos2(x − ) =
π

3

π

3

3

2

https://dl.doubtnut.com/l/_s7FVBcgDSEHK
https://dl.doubtnut.com/l/_I45La3iQOFhI
https://dl.doubtnut.com/l/_SQDqufZxeywe
https://dl.doubtnut.com/l/_dCImvGvi9w7J
https://dl.doubtnut.com/l/_ChfjhHgsB7Db


100. Prove that 

Watch Video Solution

2 cos( )cos( ) + cos( ) + cos( ) = 0
π

13

9π

13

3π

13

5π

13

101. Prove that 

Watch Video Solution

(sin 3x + sin x)sin x + (cos 3x − cos x)cos x = 0

102. Prove that

Watch Video Solution

(cos x + cos y)2 + (sin x − sin y)2 = 4 cos2( )
x + y

2

103. Prove that 

Watch Video Solution

(cos x − cos y)2 + (sin x − sin y)2 = 4 sin2( )
x − y

2

https://dl.doubtnut.com/l/_ChfjhHgsB7Db
https://dl.doubtnut.com/l/_xGy4PE3Cy5dz
https://dl.doubtnut.com/l/_z6rq0t3vVB8W
https://dl.doubtnut.com/l/_INcrKWDJSJC3
https://dl.doubtnut.com/l/_E7bgVMFPEaYp


104. Prove that

Watch Video Solution

sin 2x + 2 sin 4x + sin 6x = 4 cos2 x sin 4x

105. Prove that 

Watch Video Solution

= tan 6x
(sin 7x + sin 5x) + (sin 9x + sin 3x)

(cos 7x + cos 5x) + (cos 9x + cos 3x)

106. Show that 

Watch Video Solution

sin 3x + sin 2x − sin x = 4 sin x cos( )cos( )
x

2
3x

2

107. Find  , , and  if  and x is in the

second quadrant.

Watch Video Solution

sin( )
x

2
cos( )

x

2
tan( )

x

2
tan x = −

4
3

https://dl.doubtnut.com/l/_YpmUugNXhszT
https://dl.doubtnut.com/l/_JksSduNpKvw3
https://dl.doubtnut.com/l/_WfT1avt1EeG5
https://dl.doubtnut.com/l/_iCJU0HuzETxJ


108. Find  ,  and  if  and x lies

in the 3rd quadrant .

Watch Video Solution

sin( )
x

2
cos( )

x

2
tan( )

x

2
cos x = ( − )

1

3

109. Find  if  and x lies in the

second quadrant.

Watch Video Solution

sin( ), cos( ) and tan( )
x

2
x

2
x

2
sin x =

1

4

110. Prove that  Find the domain and range of 

.

Watch Video Solution

= tan( )
sin x

1 + cos x

x

2

f(x) = cos 2x

111. Hence write the value of 

cos .75∘

https://dl.doubtnut.com/l/_XM62ZR1JQCRl
https://dl.doubtnut.com/l/_CjC8eJQ6DYwK
https://dl.doubtnut.com/l/_zim0ol8HclZu
https://dl.doubtnut.com/l/_7yclz7eJn4zW


Watch Video Solution

112. If , show that 

Watch Video Solution

=
sin(x + y)

sin(x − y)

a + b

a − b
a tan y = b tan x

113. Prove that

Watch Video Solution

cos 24∘ + cos 55∘ + cos 125∘ + cos 204∘ + cos 300 =
1

2

114. Prove that 

Watch Video Solution

√2 + √2 + √2 + 2 cos 8θ = 2 cos θ

115. Solve the following equations 

Watch Video Solution

2 tan θ − cot θ = − 1

https://dl.doubtnut.com/l/_7yclz7eJn4zW
https://dl.doubtnut.com/l/_c0Dcoq5WpCcg
https://dl.doubtnut.com/l/_dbhiVAClPNMP
https://dl.doubtnut.com/l/_5ItNtxSgm1ZU
https://dl.doubtnut.com/l/_RmbLo3yV707k


116. If , prove that 

Watch Video Solution

A + B = 45∘ (cot A − 1)(cot B − 1) = 2

117. Show that 

Watch Video Solution

= − 1
sin(180∘ + A)cos(90∘ − A)tan(270∘ + A)

sec(540∘ − A)cos(360∘ + A)

118. Prove that 

Watch Video Solution

+ + + =
cos4(π)

8

cos4(3π)

8

cos4(5π)

8

cos4(7π)

8

3

2

119. Prove that 

Watch Video Solution

(sin 3x + sin x)sin x + (cos 3x − cos x)cos x = 0

https://dl.doubtnut.com/l/_RmbLo3yV707k
https://dl.doubtnut.com/l/_OZpVmPPuT2BR
https://dl.doubtnut.com/l/_D8TOHpMQsq33
https://dl.doubtnut.com/l/_hgfF1pJUo942
https://dl.doubtnut.com/l/_E61TivvQ1eYX


120. If an arc of length l of a circle of radius r subtends an angle  radians

at the centre what is the relation connecting l , r , 

Watch Video Solution

θ

θ

121. A cow is tied to a post with a rope of  long .If it moves along a

circular path by keeping the rope always tight. Find how far it will have

gone when the rope has reached an angle of 

Watch Video Solution

20m

90∘

122. Three points  are marked in the stem of a coconut trees so

that the distance of these points from its foot are in A.P. If the angles of

elevation of these points from a point on the ground are 

respectively. then.

i) Draw a rough sketch of thẻ situation..

ii) Show that  are also in AP .

Watch Video Solution

A, B, C

x, y, z

cot y cot z, cot z cot x and cot x cot y

https://dl.doubtnut.com/l/_7i3CATE4Y1KV
https://dl.doubtnut.com/l/_YTQqUGzIYxct
https://dl.doubtnut.com/l/_o2ENhHx1tFr6


Watch Video Solution

123. Prove that

Watch Video Solution

sin2 A cos2 B + cos2 A sin2 B + cos2 A cos2 B + sin2 A sin2 B = 1

124. Prove that 

Watch Video Solution

√ = cos ecA + cot A
1 + cos A

1 − cos A

125. Prove that 

Watch Video Solution

2 sec2 θ − 2 cos ec2θ − sec4 θ + cos ec4θ = cot4 θ − tan4 θ

126. Prove that

W t h Vid S l ti

(sec A − cos ecA)(1 + tan A + cot A) = tan A sec A + cot A cos ecA

https://dl.doubtnut.com/l/_o2ENhHx1tFr6
https://dl.doubtnut.com/l/_RUDdpx2m42nZ
https://dl.doubtnut.com/l/_vWDTU3us3sK5
https://dl.doubtnut.com/l/_n3vbraSvAI8H
https://dl.doubtnut.com/l/_MYwAJhU1KMjy


Watch Video Solution

127. If ,then show that 

Watch Video Solution

cos θ + sin θ = √2 cos θ cos θ − sin θ = √2 sin θ

128. If , show that 

Watch Video Solution

tan2 θ = 1 − k2 sec θ + tan3 θ cos ecθ = (2 − k2)
3
2

129. If , show that 

Watch Video Solution

a cos θ + b sin θ = c

a sin θ − b cos θ = ± √(a)
2

+ (b)
2

− (c)
2

130. If . prove that .

Watch Video Solution

Tn = sinn θ + cosn θ =
T3 − T5

T1

T5 − T7

T3

https://dl.doubtnut.com/l/_MYwAJhU1KMjy
https://dl.doubtnut.com/l/_NYRgU3F0nY1z
https://dl.doubtnut.com/l/_74vVaJmkwYB5
https://dl.doubtnut.com/l/_9tZXvGqL3LBg
https://dl.doubtnut.com/l/_cZLnKoOcvaXI


131. Find the quadrant in which  is negative and  is positive.

Watch Video Solution

cos θ tan θ

132. Show that 

Watch Video Solution

sec2 θ + cos ec2θ ≥ 4

133. Prove that  can never be equal to 

Watch Video Solution

cos θ + sec θ
3

2

134. If  be real, show that  cannot be equal to .

Watch Video Solution

x cos θ x +
1

x

https://dl.doubtnut.com/l/_yse8LjOogDhF
https://dl.doubtnut.com/l/_lebhdjZiLgtx
https://dl.doubtnut.com/l/_1Z9qhzmrb1Li
https://dl.doubtnut.com/l/_qs5zA7QDAYal


135. Show that

(i)  


(ii) 

Watch Video Solution

sin2 6x − sin2
.
4x = sin 2x sin 10x

cos2 2x − cos2 6x = sin 4x sin 8x

136. If  and  be real, show that the equation  is

possible only when 

Watch Video Solution

x y sec2 θ =
4xy

(x + y)2

x = y

137. If , show that 

Watch Video Solution

cot α cot β = 2 =
cos(α + β)

cos(α − β)

1

3

138. show that : 

Watch Video Solution

tan 75∘ + cot 75∘ = 4

https://dl.doubtnut.com/l/_SGXknOysndgk
https://dl.doubtnut.com/l/_24rdywt0vMc4
https://dl.doubtnut.com/l/_RqLrAgxxbHVQ
https://dl.doubtnut.com/l/_kD5O92awh948


139. Prove that 

Watch Video Solution

cot x cot 2x − cot 2x cot 3x − cot 3x cot x = 1

140. Show that

(i)  


(ii) 

Watch Video Solution

sin2 6x − sin2
.

4x = sin 2x sin 10x

cos2 2x − cos2 6x = sin 4x sin 8x

https://dl.doubtnut.com/l/_kD5O92awh948
https://dl.doubtnut.com/l/_IsNevoqDiFgO
https://dl.doubtnut.com/l/_Udl2xkfanLd0

